Cny

5/3

'X

s Y
[ PA] y =€
6\ - ? C,AX o) -?9/ 1
SJ‘ = S i /= n=o = L wnX - X"
7 net n=o0 i1
AR % vC wel =wm o men
. — M
G“LSS ¢ (.'5\‘._“ O \!—7/0 - f (W\A'\)Cw‘xm ’i (/M"L X
(«7)\L’r'L go wzo m=1
CO m>0 m\ [ad 5]
o Ges e \= Gt Tax 6 T ()G —Cen) X
© w=1
) = ’__/(,_o_/\__,_(%;\ G
L) (33 LY UL =0
o I (g ~Cann =0 o0 WL
Y - ’C’o_,._, Lo (LLUNEION relation
0 T 'S“\:-\ Con
(=T * ©3 X o = ==
V] \/l z *, 7( =G L \L\K W Q\;Mt\')w“r‘
o0
Ca

T N = "

(o= —2 for W3



‘1‘*130/ =0

D= i nea

n=t

(=)

N

0 k= 2_ (,w\*‘)(-w\\-\xm

M0

20
o= ( ,\,Z ((MH)CMH v 'LLM,‘)XM

(&, = :‘i;ocwx‘f)

) 29‘ wnl
+ L Len¥
n=0

(M :V\-\\)

s wW
1 3 ZLCMﬂ X
wm=l

W=t
0= (4
0= () Gayt ¥ Ll £F W7
C\MH :-—'L(,m-l
o
(M'\:V\)
Ca = '}fv:;t. for WL




3. b
(M(\)\, = ol Ca 3

0\ G Y= G +30% L 3GXT 4 GR

0= X\l\ +\1' »%\/
vz G+t +x)

_ s} o v.} \ (_‘:‘5(_0
0= xLnal™ » L nex™ - Ticex®
n ~ "n - - 3
n=| v\:\m‘ ) <0 L Cz_’; %Q = ('—-——-—L).?_“ =3¢ \! = C.D(\ *)C)
S wn-\ & " . /
LnGX L g K~ L 3enk 3 ¢ = 20N
0 ™m=0 n 3 11
o~ (m>n) " “( Cl{ :’?_%\L:O
0= v 2__ NGy + (NG ’SLW\X
n;\( ) S g = ‘% =0
- (4—"5(.0
- O
é G-DNew + ()G dor w7l 0 1(4 ’
- (,V\"\»(.V\ "
Wt o
n
wmzwe

»(q_\_’l-?;‘i,l -(0( Yy

(/w\"



